EARAROBEEIERT — 2 N— IBISH —F 2018%6A 170 (B) 4EIEH2H

m A—2 A 5% (xwlw | lmEmml - |5 ) oo s
[A&4£] 1 7 :600,000  ~ 23#%&:180,000  ~ 3 3#%:90,000 3 ~ 43#&:60,000” 53 :30,000 9
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s KRR . —6-5- - MEEX (SH)
1177 X291 Y914 4 5 24% 1.(4_6).8 7-6-5-4 | 40.3 6 422)6 k?&gg
i hk—L B:¥xvy=A2Ul)— Gt e
X\ J S5 4 6 F%ﬁﬁ% 1:46.9 3-3-3-1 |41.2| — 8 | 506 |EFRTF (HH)
EE 6| /N a—> 56.0 (78) (5) | MR
R:yA7% BT IINY YA T
. o s REE—BA : 76— - THBR (BH)
slglg|xT>ami—s— o9 s 1(.14/72.>o 8-7-6-6 | 40.2 9 25)) iz
L:TVHA XTI K B:RE2—-U—T—ILK fuli e ]
- BIRFE I : — 44— — BIFFES (FH)
alglolnresa—s B 5 %5.0 1.(417).2 5-4-4-5 | 41.1 5 g&) seiE
R:¥>ovH /%% B:O¥-Ta Pl ]
N > FENllEGIN 147, 02— . — WMARRE) (FH)
555 | F R/ XTI e8| B (11417/25) 2-2-2-3 | 42.1 4 (4+934) IEAHA@@&&
AL TAT v — BT72Th HET77—»4L
= > 8 | BEBX 1:47.6 1-1-1-2 | 42.3| — 1 473 | B (SA)
cBl3|P7IET TN X (1/2) (g |EE
R:H750-LIL B:HI5XAHvy IR A
s s N =IES . -5-7- — ITHER (FH)
7 o|N=2 b F Ry (11417/2% e A ’ ?_370) EEET
Lhzxexy B:7r 44 El=X njibie)
[ii{m}2) : -8-9- — BEIEX (FH)
8 4| VA FIS i 8 = 1.(437 6-8-9-9 | 41.4 2 (5_116) aEx
R:2R8F2—FATUNF1 B:S—IALAKR— fecpae]
on e L e 148. -9-8- . — WMARRE) (FH)
ol 1|1 Tz k—n it 5 L 1(14/82>8 9-9-8-8 | 41.5 7 (4_816) MAANEE
RixA1=ZTyr—R B:F—42LTY-X NSERNTT =L
® I—F—@EBIERL
13—7F— 3,5,6,2,9,4,7,8,1
Ao=5"= 3,5,6,9,2,7,8,4,1
3T—7— 3,5,6,9,7,8,2,1,4
43—+ — 6,3,5,7,9,8,2,1,4
[ RN
B 7 1,420 74K 6-7 5,320 & 6-7 24,8504 &R 6-7-8 38,250
# B 7 480M 7-8 3,730 B E 6-7 21,610M EE 7-6-8 220,840
6 650M 6-8 7,810 B H 7-6 26,700M
8 1,000
ABICOVWTRHDTERERRODLDE, THERLE,




